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1.  Compute the following derivatives.
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Power Rule



Power (or Quotient or Reciprocal) Rule
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Power Rule



Power Rule (or derivative of constant)
2.  Compute the following derivatives.
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Derivative of Sine Rule

Derivative of Cosine Rule
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Trig Derivative Rules 


Quotient Rule (or Reciprocal Rule)

(or Quotient Rule)


(or Trig Derivative Rules)
3.  Compute the following derivatives.
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Quotient Rule



Product Rule
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Quotient Rule



Product Rule
4.  Given that 
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?  Explain your answer.  (HINT: you do not need to find c or d)
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Because f[x] is continuous, and f[-1] < 0 and f[1] > 0, we are
guaranteed that [x] = 0 somewhere betweenx = -1 and x = 1.
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Because f[x] is continuous, and f[2] > 0 and [4] > 0, we are
NOT guaranteed that f[x] = 0 anywhere between x = 2 and x = 4.

Also, if you calculate f[x], you can see that £[x]>0 everywhere,
which means that f[x] is always increasing because £[x]
represents the slope at each point of f[x]..
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BONUS (+2):  Calculate the following derivative.
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